Answser K"/‘j
‘z-table use
1. Determine table entries for look up of P(Z < =2.61).
a. row=2.61 column 0.00 b. row2.61 column 0.00
C. row 2.6 co!urﬁn 0.01 '
- 2. Determine P(Z < ~2.61).

a. 0.0045) b. 0.1711 c. 0.0289 d. 0.0023 e. 0.0087

w

Closest table entry found when looking up of z satisfying P(Z < z) 0.864,

~a. 0.8631 b 0.8599 c. 0.8616 d. 0.8461 (e 086437

4. Value z satisfying P(Z < z) = 0.864 (use closest table entry).

a. 1.02 (b. 1.10) c. 213 d. 094 e. 0.90
[(‘i ‘#. The z satlsfymg P(Z>z)=0.18 also safisfies P(Z < -z) =7 otk ot& S’g"""""”c F"’J’”fj
| . 009 d 013 d 022 ’. |

-2 0 2

5. Determine z satlsfylng P{(Z> z) =0.18 {use closest table entry). P( 2 <3) = l-oid=0.82

a. 077 c. 0.84 d. 113 " e 1.01 Use 2-‘&1!:(1 o j.d 2 as 072

6. The z satisfying P(1 Z{>z ) = 020alosatasﬂesP(Z>z) 7 . L
> gP((sz o G<-2) 0:20 by gymetric propecty ,
~a. 0. b. 0. .
@ b. 0.90 c. 015 d. 020. e. 0.30 bz > - °}°-o‘1o
Cl for p in Bernoulli trials -z 0 2 :

B 7. What fraction of 80% Cl for p cover their intended target p?

a. ~1.0 b. around 0.90 ¢. exactly 0.90 d. exactly 0.8




t

e e €

, neve | N=3le

8. A with-replacement sample of 40 hospital admittees from a population of 310 admittees finds
.13 lack insurance for the recommended treatment. The CI for the corresponding population
~ fractlon pis:
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9. The 95‘% Clfor p (not 90% Cl as in #7) is from #8 Pi?S JPA =038 (. ?GXJE}—@E‘Z"
a. [0.200847, 0.480972] - b. [0.189646, 0.460354] . [0.110236, 0.539764] =0-3% £ o.14SIST}

d. [0.236132, 0.413868] . 7[0_(-@3(,,7 , o-&lols1]

10. The Agresti-Coull estimate of p, different from p is P equal to P— x+z —-— = 0.3¢ofo 7

a. 0.340909) b. 0220395 c. 0.199699 d. 0.340909 e. 0.254910

11 The Agrestt -Coull 95% Clforpis. P +2 J_}_ = 0 34eef £ l-?é‘#J o3t ?” Syl
T3

| Ty
& [ 200847, 0.480972) b. [0.302811, 0.638366] c. [0.110236, 0.539764] =O3¢o7°fE 0:(ko0b2
| 236132, 0.413868] . [0.179849, 0.470151] | :7c°.zwgﬂ 0.48°97|1
o h=e | / N=3e0

12. A WIthout-replacement sample of 40 hospital admittees from a populatlon of 300 admittees
fmds)S fack insurance for the reccmmended treatment. The form: of a 95% CIl for the

corresponding population fraction p is:
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13. The above 95% Cl for p is

a. [0.200847, 0.480972] (b. [0.189646, 0.460354] » c. [0.110236, 0.539764]
d. {0.236132, 0.413868] e. [0T89646,

M . b and 2 ane the same -
14. For a 92% Cl what z would be used?

a 145 b. 165 c 134 d. 1.25 @ .
. "2

tests of hypotheses

: —0.92
720 P(Z<2)= 19‘?24‘ %ﬁ_:o.?é
15 wee 2-wsle %ddewsf-ﬂ"-

15. It is desired to test the null hypothesis p = 0.2 versus the alternative p > 0.2. where p is the
fraction of snow blower sales having a service contract in the deal. The rate 0.2 applied just prior
to a new advertising "roflout" promoting the service contract. Give the form of the z-test statistic.
-Note the following:  This is not a Cl. The test is not being set up in terms of X.
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16. A sample of 100 snow blower sales finds 27 'had the contract as part of the deal. Detirmme R
- Oy

the P-value for this data employing your choice in #15. velie = > b
| prvefie = P2 > ) =P(2> J"”“‘um&)
a. 0.0400) b. 0.0211 c. 0.03893 d. 0.10560 e. 0.09284 joo

| =P(2>17€) = 0.04o]|
tests with pre-assigned probabilities of type 1 and type 2 error

17. Itis desired to test :
Hy:p=02 type one error probability 0.01
Ha:p=04 type two error probability 0.04

Determine Zp. (2 7 %) mow0] SPRc)=0 ?7 2
Zo
a 259 b. 175 (c. 239 d. 267 e 281 U B-Wl gl e D 232

18. You are given that Zy= ~1.75. Using the [nformatlon in #17 determine the sample size n
‘required to achieve the goals set out above.

a. 231 @ c. 135 d. 306 e 78
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